Endstand nach
Stetteldorf,Gr.Meiseldorf,Sierndorf,Ruppersthal und Ravelsbach

VS Sierndorf 2 b 11
VS Sierndorf 4 b 10
VS Sierndorf 3 b 10

VS Gr.Weikersdorf 4b
VS Hausleiten/ Stetteldorf 1 b
VS Sierndorf 1 a

VS Gr.Weikersdorf 1a
VS Kénigsbrunn 3 KI.
VS Sierndorf 3 a

VS Sierndorf 2 a

VS Sierndorf 1 b

VS Kénigsbrunn 2 KI.
VS Gr.Weikersdorf 2a
VS Gr.Weikersdorf 4a
VS Absdorf 3 b KI.

VS Sierndorf 4 a

VS Absdorf 3 a KI.

VS Absdorf 1a K.

VS Gr.Weikersdorf 3a
VS Gr.Weikersdorf 2b
VS Absdorf 1b KI.

VS Hausleiten 3 b KI.
VS Kirchbberg 1b

VS Kirchberg 4b

VS Hausleiten 2 a KI.
VS Gr.Weikersdorf 3b
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